QL.

Q2.

Q3.

Q4.

Fill in the blank:
f10-2-2-2-2-2=0,
Then, 10 + 2= ___

Divide the following into 4 groups and fill in the blanks:

a.

T9999999
AAAAALL;
eSS
ecece

16 +4=__

Tick the correct division fact for the following statement.
12+-3=4

a. 12 divided by 3 is equal to 4.
b. 3 divided by 12 is equal to 4.

Make appropriate number of groups and fill in the blanks:

RA AR
RRAR

12 +2 =
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Q5. Raman has 20 candies. He wants to distribute 5 candies to each of his friends.

How many friends will get the candies?

Q6. Divide the following. Compare and put the correct sign <, > or =.

509950

Answer: friends

a I a I

%% %k

AR
%% %k

12+4=__ () 12+3=__

Q7. Put an equal number of balloons in each box.

99QeQQ
e

Q8. Divide these numbers into equal groups by repeated subtraction.

O
r
A
r O
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Q9. Divide and match the following:

72 +9 7
58 + 8 6
24 + 4 4
20+ 5 8
Q10.Fill in the blanks:

a. 0+20=__

b. 45+ =45

c.  +1=8

d +10=0

Q11.Divide on the number line.

15+5=_
- | | | | | | |

- | | | | | | | | | | | | | | |
o 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

\

Q12.20 sweets are to be distributed equally among 20 children. How many sweets
will each child get?

Answer:

Q13.How many times can 24 be divided equally into groups of 6?
Answer: times
Q14. Match the numbers in the clouds and fill in the blanks:

If 20 chocolates are divided among:

a. 2 children, each will get _ chocolates. @
b. 4 children, each will get ______ chocolates. @
c. 5 children, each will get _ chocolates.
Q15.Tick Yes or No:

Can you divide 18 bags into: - 3

a. 2 equal groups : Yes ( ] No () ‘ ‘ a ‘ ‘

b. 3 equal groups: Yes ( ] No [ | a a ‘ ‘ a

c. 4 equal groups: Yes ( ] No ) a a ‘ ‘ a

d. 6 equal groups :  Yes ( ] No [ ) L a a ‘ ‘ a/
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1.
2.
3.
4.
5.
6.
7.

10.
11.

12.
13.
14.
15.

5
a. 4 b. 2

(a)
6

4
3<4

Qe
bbb

18 -3=15
15-3=12
12-3=9
9-3=6
6-3=3
3-3=0
18 +3=6
72 =9 8
56 ~ 8 7
24 + 4 6
20+ 5 4
a. 0 b. 1 c. 8 d 0
15+5=3

\

1 sweet

4

a. 10 b. 5 c. 4

a. Yes b. Yes c. No d. Yes

Copyright © 2017 Macmillan Publishers India Private Limited. All rights reserved.



